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Name Date Class

LESSON Practice C
The Natural Base, e7-6

Graph.

 1. f  � x �  � � e   x � 2  2. f  � x �  � � e   x � 2 

    

Simplify.

 3. ln  e   5x – 3  4. ln  e   2 ln 8x  5.  e   4 ln   � x � 2 �  

 5x � 3  8 x   2     � x � 2 �    4 

 6.  e   �ln 4 � x  7. In  e    �
�

 x    8. In  e     
4 __ x   

    � 4 � x �    �1 , or   1 _____ 
4 � x

    ��
 x     4 __ x  

Solve.

 9. Ariana has a choice of two investments. She can invest $12,000 at 5% for 
8 years, or she can invest $9000 at 6.5% for 7 years. Both accounts are 
compounded continuously. Which investment will result in the greater 
amount of interest earned?

 The investment of $12,000 will earn $5901.90 in interest; the investment of $9000
will earn $5185.56 in interest. The first investment will earn more interest.

 10. Use the natural decay function, N  � t �  �  N  0  e   �kt , to find the age of a fossil 
containing 35% of the original amount of a particular substance. This 
substance has a half-life of 2450 years.

  a. Find the decay constant.

 0.000283

  b. Find the age of the fossil.

 3710 years

a207c07-6_pr.indd   45a207c07-6_pr.indd   45 12/29/05   8:04:09 PM12/29/05   8:04:09 PM
Process BlackProcess Black



Copyright © by Holt, Rinehart and Winston. 77 Holt Algebra 2All rights reserved.

AK4up.indd   77AK4up.indd   77 1/4/06   3:44:43 PM1/4/06   3:44:43 PM




